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Attempt all questions
*Required

1. Email address *

2. Which course? *
Mark only one oval.

B.Com Hons.

B.Com Gen.

3. Student Name *

4. University Roll No. *

5. Class Roll No. *

6. Phone No.*
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7. Your Gender? *
Mark only one oval.

Male

Female

8. 1.India’s economic planning cannot be said to be: TR &1 3T F FSATFH T 2 points
H AT T AT FHATE: *

Mark only one oval.

a. Indicative {d@h

b. Imperative 31faary

c. Limited ¥fAd

d. Democratic SHIhicH

9. 2.Economic Survey is published by: 3Te Td&ToT gaRT FerTfId fhaT SITAT§: * 2 points
Mark only one oval.

a. Ministry of finance faca #Ter

b. Planning commission JsT=lT 314147

c. Govt. of India AT G{HR

d. Indian Statistical Institute ¥R TITETRT TEATT
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10. 3.Indiais the biggest producer as well as the largest consumer and 2 points
importer of which of the following crops? HRd T&H 8T 3cdTGeh glel o AT -
1Yy T H § fhd wol ol Gad §3T 3UHIFAT AR AR 52 *

Mark only one oval.

a. Wheat U’I%:
b. Cotton &uTd
c. Sugarcane ool

d. Pulses gelgol

11. 4. Which of the following is an example of passive investment instrument? 2 points

e &7 O i a1 AT A3 arera &1 v 3egIoTe? *

Mark only one oval.

a. Gold ETFs 3lTes §¢IU%

b. Mutual funds #Jg37el hsd

c. Stocks TelFd

d. Preference shares 37f8ATT R

12. 5. A persistent fall in the general price level of goods and services is known 2 points
as: ATl 3R AT3T & WA Hed T A PR FTRIEE & o351 & &9 H STl
ST g: *

Mark only one oval.

a. Deflation 3r9€hifa
b. Disinflation faERITa

c. Stagflation Ferehrfdstiad #er
d. Depression f3oreret
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13. 6. Who is the chairman of planning commission in India: AT H ITSTAT ITR—AET 2 points
o EFeT Pl o *

Mark only one oval.

a. President Irse-afar

b. Vice president 3uxrsgufa
c. Prime Minister T8ITeT #3T
d. Finance Minister facd #37

14. 7. The one rupee note bears the signature of : Teh 39U & Alc W &EATER &: ¥ 2 points

Mark only one oval.

a. RBI governor 3TREI31TS aeiX

b. President of India IR & Tseufa
c. Finance Minister facd #4T

d. Finance Secretary facd @fag

15. 8. Which of the following does not come under GST in India? [A&Afaf@aT & 2 points
T piT AT & GST & 3iderd =T8T 3Targ? *

Mark only one oval.

a. Agricultural products $¥ 3cdTe,

b. Handicrafts g&afeq
c. Gems and Jewelleries TceT 3T SaorT

d. Petroleum products 9giferd# 3curg
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16. 9. The concept of five year plan was borrowed from: TaauiT AT el 2 points
YR &gl § T arar a: *

Mark only one oval.

a. USA 33T
b. England gdTel3

c. Russia &8

d. France wig

17.  10. Who is the largest trading partner of India? IR &T TGH ISTSATATNRE 2 points
FrfleR HlT 82 *

Mark only one oval.

a. USA 31radierr
b. China a7

c. England 3aels

d. United Arab Emirates Hged 3R 3#HRI

18.  11. In which year national development council was set up? fFg ay ITsEr=r 2 points
T aRwe T TUTIAT T 78 o2 *

Mark only one oval.

a. 1949
b. 1955
c. 1951
d. 1952
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19. 12. The department of family planning was set up in: IRaR AT [AHT AT 2 points
TATYAT F¥ 78 oY *

Mark only one oval.

a. 1965
b. 1966
c. 1977

d. 1975

20. 13. Which of the following is / are immediate objective of the population 2 points

policy of 2020? AT &T & & PlaT 2020 FT TATEAT Alfd HI dceplel 362T &

Mark only one oval.

a. Meet the needs of contraception TR h THEIAT T G HY

b. Meet the needs of health infrastructure TarE2 FIAATET @ T FEICAT I A HI
c. Meet the needs of health personnel FaTELT HIFAT T FFIAT N I HY

d. All the above 3uderd Hefr

21. 14. Major portion of working population in India is in: TR H SIS HTETET 2 points
T 93T feEaT hgl I H P IET 6 2 *

Mark only one oval.

a. A tertiary factor Ush Jcildeh HRb
b. Private sector fsir &1

c. Public sector @Tasifeeh &1

d. Secondary Sector ATEITH® &7
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22. 15.The book “Planning Economy for India” was written by? “Planning 2 points
Economy for India” 9&cTeh feh&reh garT forg ars 2r? *

Mark only one oval.

a. V. K. R. V. Rao
b. M. Visvesvaraya
c. K. N. Rai.

d. Manmohan Singh

23.  16. What is the full form of Niti Aayog? &Tcil 3137 3T qoT &9 FATE? * 2 points
Mark only one oval.

a. National Institute to Transform India #QrTel STEICIE T STABIA Sf3AT

T a & X

b. National Institute for Transforming India S2reTel $EEICYE BIX STHBITHT SF3AT
c. National Institution to Transform India S2eTeT SEECYLT € THHIA Si3AT

d. National Institution for Transforming India si2leTel SEEICYAF BIX IEBITHIT ST3AT

24. 17.Unfair trade practices are included in: 373X ¢38 HTFeq Tl @d H A 2 points
forae enfAer g *

Mark only one oval.

a. FERA T

b. FEMA %#T

c. MRTP Act TARE sifafag#d

d. Anti Laundering act UeY diffegeT Tec
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25. 18. Multi fibre agreement is related to: el IR TASIAT fhad AT * 2 points
Mark only one oval.

a. Textiles sh4sT
b. Agriculture ¥
C

c. Chemicals 3d1eT
d. Plastics TaTi&es

26. 19. Which of the following combinations is correct? TFITf@T HF T RIT AT 2 points
ATl @I g? *

Mark only one oval.
a. NABARD #TaTs - Industrial Loan 3iteatfe wgor
b. IDBI 3$SIN3MS$~ Short term Loans &€ 3rafer s 0T

c. RBI — Long term Loans ofsT 37af¥r & 30T
d. RRB 3{R3TRET- Agricultural Finance& ¥ facd

27. 20. Which one of the following statements about globalization is correct? 2 points

2ol & IR H fAFa T f@d 7 & Sl T1 U T 8? *
Mark only one oval.

a. All economies are closed THT 37IcITTUTT §¢ &

b. Secular economies GHTARYET 3rcTaEUTT

c. Open economies with trade liberalization SATIR 3GRIAIUT & AT Geil JTegae Ul
d. None of these are correct 343 & @15 3T TEI T6T &
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28. 21. Which one of the following was the objective of 12th five year plan of 2 points

India? AT & & sl AR 1 12 dF T AT &1 38T A1? *

Mark only one oval.

a. Faster and Inclusive growth dsit & 3iR @aTael fawra

b. Faster quick and reliable inclusive growth ait & 3iR fTaaasirg gaTaelh e

c. Faster reliable and more inclusive growth asit & faRaae=ig 3R 31T gamaseh faea
d. Faster sustainable and more inclusive growth Tt & TIRIY 3R 31f8e gLl fawra

29. 22.Indian Economy is : TR 3¥cqaear g: * 2 points
Mark only one oval.

a. Socialist Economy TATSAET 3 eqasar
b. Gandhian Economy aTrefiardr 3r2ieaasar
c. Mixed Economy RT3 3rdegazar

d. Free Economy Hed 3rdegaean

30. 23. Mixed Economy means an economy where: fRd 3rcaaear &7 31287 § T 2 points
I TTAT STgT: *

Mark only one oval.

a. Both agriculture and industry are equally promoted by the state $f¥ 3R 3T &=t
&I o AT HATH &9 § FErdT f&ar rdm &

b. There is co-existence of public sector along with private sector fsir & & qry-ary
Ardotfaeh 819 &7 Tg-31edca &

c. There is importance of small scale industries along with heavy industries $TRY

3CAI & HIY-HIY oY 3N T Heed &

d. Economy is controlled by military as well as civilian rulers 37¥cgaear o =T & ATY-
Y AT ATHDT T HAITOT §
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31. 24.The second five year plan laid more stress on : Q& TUaST ASTAT A SH 2 points
o 3T SR fea: *

Mark only one oval.

a. Industrialization 3fteaTefretor
b. Removing poverty Y&l g &=

c. Self-reliance 3frcafsar
d. Agriculture ¥

32. 25. The deputy chairman of the planning commission: TTSTAT 3TTATIT & 2 points
JUTETET: *

Mark only one oval.

a. HRD minister AT FaTY faenra H4T

b. Finance Minister faed #4T

c. Holds the rank of cabinet ministry hfssie HATT FI AT AT &
d. Is an Economist of repute EaTfa &1 rdarE &
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